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Correct sequence of segments of a
typical walking leg of prawn is —
(1) Coxa, Basis, Merus, Ischium,
Propodus, Carpus and Dactylus.
(2) Coxa, Basis, Ischium, Merus,
Carpus, Propodus and Dactylus.
(3) Coxa, Basis, Carpus, Merus,
Ischium, Propodus and Dactylus.
(4) Coxa, Basis, Ischium, Carpus,
Propodus, Merus and Dactylus.
(5) Question not attempted

Which one of the following is a
correct statement ?

(1) Al Radially symmetrical
animals are triploblastic.
(2) Coelom is developed by

splitting of embryonic
endoderm in schizocoelomates.
(3) In mollusca blastoporal lip of
embryo develops into anus.
(4) The symmetry of echinoderms

is called secondary radial
symmetry.
(5) Question not attempted
Arrhentoky is :

(1) When only haploid females are
roduced parthenogenetically.
(2) en only males are produced
Wnﬁthenugenetically.
(3) en both male and female
are ﬁ’ma“ce‘l alternatively by
arthenogenesis.
en females are produced
parthenogenetically and they
all are diploid.
(5) Question not attempted

(4)

Which of the following respiratory
pigment do not have iron ?

(1) Hemoglobin (2) Hemocyanin
(3) Hemerythrin (4) Chlorocruorin
(5) Question not attempted

Tyrian purple dye is obtained from ?
(1) Blochmann'’s gland of Aplysia
(2) Ink gland of Loligo

(3) Secretion of Murex

(4) Shell of Teredo

(5) Question not attempted
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The regeneration of anterior part
of Chaetopterus takes place from —
(1) Segment No. 17

(2) Segment No. 14

(3) Segment No. 15

(4) Segment No. 19

(5) Question not attempted

Micro-trichies or  miecro-tubes
which increase absorptive surface
on integument are present on
which animal ?

1) Fasciola (2) Taenia

3) Hirudinaria (4) Ascaris

5) Question not attempted

The structure called “kinety unit”
responsible for control and co-

ordination of movement is present
in which of these ?

(1) Obelia (2) Prawn
(3) Paramecium (4) Pila
(5) Question not attempted

Which of the following are
respiratory organs in Echinoderms ?
Tube feet

Respiratory tree

Bursae

Gills

E. Branchiae

Correct answer is :

(1) Aand D (2) A,B,C,D

(3) Band D (4) AAB,C,E

() Question not attempted

In which of the phylla given below,
flame cells serving as excretory
structures are found ?

(1) Molluscs

(2) Platyhelminthes

(3) Annelids

(4) Arthropods

(5) Question not attempted

In which of the
echinodermate apical
system is present ?

(1) Crinoidea  (2) Holothuroidea
(3) Echinoidea (4) Ophiurcidea
(5) Question not attempted
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Which one of the following

respiratory pigment is found in

dissolved form in the plasma of

protobranch ?

(1) Hemoglobin (2) Chlorocruorin

(3) Hemerythrin (4) Hemocyanin

(5) Question not attempted

Which is the infective stage in the

life cycle of Ascaris ?

(1) First stage of rhabditiform larva

(2) Second stage of rhabditiform
larva

(3) Third stage of larva

(4) Fourth stage of larva

(5) Question not attempted

From the following which animal is

not an example of a pseudocoelomata ?

(1) Loxosoma

(2) Acanthocephalus

(3) Phoronis

(4) Ascaris

(5) Question not attempted

Which among the following do not

participate in locomotion of starfish ?

(1) Tubefeet

(2) Hydraulic pressure of water
vascular system

(3) Pedicellariae

(4) Ampullary circular muscles

(5) Question not attempted

Which pair of the following is
correctly matched ?
(1) Arrhenotokous - Pediculoides
Parthenogenesizs  ventricusm
(2) Ameiotic - mia
Parthenogenesis salina
(3) Autofertilization — Nemertis
conesceus
— Daphnia
pulex
(5) Question not attempted

(4) Restitution

51



17.

18.

19.

20.

21.

sl

dfesm % @l § wom-A =
HieH-B 8 e #hifsw -
HieTH-A Hicad-B

P. anfegeh L HEBE
Q. &9 T ii. A1 91
R gedifften i, Fewnm) i
S. Wierssus gy iv. IHm
wE e 2

P QKB
(1) Wi i iv i
@ # . i i iy
(3 iii i i iv
@) i iv i i
(5) Awifta v
Frefofes 4 @9 dee % #9 d
A5aTed % Ho I TG v F 0
(1) wreEsf=mmn (2) wfefidfmn
(3) af=rm (1) W
(5) Hoia yw
AT % FeEl § FREER quis &Y
TieeiieaT, U dfEeE @t 59 g fafE
AR, S SufRE Ea g
(1) FF=isd
(2) HAwifeas et 8
(8) e o
(4) FTUE F Fa gar w

(5) FwfE v ﬁ

wTEATed % Hew!  weed ) i 2 §
(1) #=ea @ (2) TEH -

(3) Fa9 9 (4) vz Afyrat |
(5) e 9

iz T EE fRw wER &
wAferga & 2

(1) et firex (Fraiga armerd)

(2) fauffee Hrer (Rdfra smard)

(8) wrETET

(4) STIHTHS (A=)

(5) FAwRa 9w

|
|
|
|
|
|
|
l
|
|
|

5

17.

18.

19.

20.

21.

Match Column-A with Column-B
with reference to Branchiostoma :

Column-A Column-B
P. Protonephridia i. Oral hood
Q. Hatschek's ii. Neural
groove tube
R. Sensory iii. Solenocytes
papillae
S. Cerebrospinal iv. Wheel
fluid organ
Correct match is :
P R S
Qy @i 1 v §
A T R
@) i & R
(4) il iv i il

(5) Question not attempted

Which among the given are highly
specialised %ivalves of phyﬁlm
mollusca 7 -

1) Protobranchia

2) Lamellibranchia

3) Septibranchia

4) Prosobranchia

5) Question not attempted

In malacostracans the movement

of chromatophore pigments is
controlled by  neurosecretory
system present :
(1) in eyestalk

(2) in Arthrodial membrane

(3) in Antennule

(4) on inner surface of carapace

(5) Question not attempted

The Byssal threads in many
bivalves are secreted by :

(1) mantle

(2) foot

(3) shell

(4) adductor muscles

(5) Question not attempted
Amphitrite and Owenia are what
type of annelids ?

(1) Filter Feeder

(2) Deposit Feeder

(3) Carnivore

(4) Scavenger

(5) Question not attempted
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Which of the following type of Jaw
suspension is characteristic feature
of mammals ?

1) Autodiastylic

2) Craniostylic

3) Hyostylic

4) Amphistylic

5) Question not attempted

Choose incorrect statement from

the following : '

(1) Ambergris is widely used in
pharmacy and is obtained from
deer.

(2) Ivory used for piano keys and
billiard balls, are obtained
from elephant and walruses.

(3) Bone charcoals are used in
sugar industry for cleaning
molasses.

(4) Gum and gelatine are obtained
from the skeleton of whales.

(5) Question not attempted

Isinglass is produced from —

(1) Air bladder or swim bladder of
sturgeon & carp fishes

(2) Feathers of birds

(3) Shark liver

(4) Stomach of goat

(5) Question not attempted

The only skin gland mainly present
in aquatic birds is

(1) Femoral gland

(2) Uropygial gland

(3) Musk gland

(4) Lacrimal gland

(5) Question not attempted

Which of the following is a paired
blind saccule that open by ducts to
the outside of the body adjacent to
an appendage in arthropods and
functions as an excretory organ ?
(1) Malpighian tubules

(2) Coxal glands

(3) Statocyst

(4) Podobranch

(5) Question not attempted
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In all amniotes, claws and nails

are formed by cornification of

which of the following ?

(1) Stratum corneum

(2) Stratum germinivatum

(3) Stratum lucidum

(4) Corium

(5) Question not attempted

Which of the following is NOT a

characteristic feature of

Hippocampus ?

(1) Mouth toothless & suctorial

(2) Pelvic, Ventral and Caudal fins
lacking

(3) Tail non-prehensile

(4) Swims feebly and vertically

(5) Question not attempted

Rhamphotheca in birds is derived
from which of the following ?

(1) Epidermal glands

(2) Stratum corneum

(3) Dermal plates

(4) Malpighian layer of skin
(5) Question not attempted

The innermost region of epidermis
that has a single row of living
columnar cells is called

1) Malpighian layer

2) Corium

3) Stratum lucidum

4) Stratum corneum

5) Question not attempted

In Branchiostoma the gill-slits
open into a sac called ?

1) Velum

2) Operculum

3) Atrial cavity

4) Hatachek’s pit

5) Question not attempted

Which of the following structure
Sserves as accessory respiratory
organ in some a%uatic turtles
during submergence ?

51) Pharyngeal diverticula

2; Cloacal bladder

(3) Pseudobranch

(4) Pelvic gill

(6) Question not attempted
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Which of the following is correctly

matched 7

(1) Cervical
vertebrae of
large ungulares

(2) Verterbrae of
tailed
amphibians

(3) All vertebrae of — Amphicoelus
mammals

(4) Vertebrae of
modern birds

(5) Question not attempted

— Acoelus

— Amphicoelus

— Procoelus

The epigonal organs attached to
ovaries are present in :

(1) Scoliodon (2) Rana

(3) Uromastix (4) Columba

(5) Question not attempted

Zygapophysis, which serves for
articulation between adjacent
vertebrae are absent in which of
the following ?

(1) All vertebrae of scoliodon

(2) All vertebrae of varanus

(3) All vertebrae of fowl

(4) All vertebrae of frog

(5) Question not attempted

Rathke's pocket is related to which

part of Chordate Pituitary gland ?

(1) Proadenchypophysis

(2) Mesoadenohypophysis

(3) Neurohypophysis

(4) Both Pro and Mesoadeno-
hypophysis

(5) Question not attempted

In crossopterygii fishes which of
the following type of scales are
present on the body ?

(1) Cyclod (2) Ctenoid

(3) Ganoid (4) Cosmoid

(6) Question not attempted
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38.

39.

40.

41#

42.

In which of the following fish
acceaiur}r respiratory organs are
EI. Sen

2 Eﬂl’jﬂl_uﬂ.
B
| G
_ uestmn not attempted

Venumnus glands of the snakes are
modified form of which of the
following ?

(1) Tear glands

(2) Mucous glands

(3) Superior labial or parotid glands
(4) Thyroid glands

(5) Question not attempted

In most elasmobranchs the jaw-

suspension is :
(1) Autodiastylic

- (2) Amphistylic

(3) Hyostylic
(4) Autostylic
(6) Question not attempted

In which animal chorda dorsalis
runs from the top of snout to the
tail end ?

1 Herdmanw.

2 Braqchinstoma

]

B ellnatuma

5) Question not attempted

Broad and large neural spine

hypapnphytea odontoid process and

a spine describes the structure of

whu:h of the fullowm%m
Atlas vertebra of frog
Axis vertebra of Varanus
Thoraco lumbar vertebra of
Varanus

(4) Anterior lumbar vertebra of
Rabbit

(6) Question not attempted

3. Pecten oculi is found in the eyes of

which of these animals ?

(1) Crocodile (2) Bird
(3) Frog (4) Rabbit
(5) Question not attempted
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44.

45.

4?‘

The pure indigenous breeds of
fowls are :

(1) Chittagong and Minorea

(2) Ancona and Aseel

(3) Aseel and Ghagus

(4) Minorca and Bustra

(5) Question not attempted

Which of these animals retains
pronephros  type of kidney
throughout their life ?

(1) Adult Cyclostomes

(2) Scoliodon

(3) Torpedo

(4) Cyprinids

(5) Question not attempted

Which feature does not reflect in

skull of Rabbit ?

(1) Zygomatic process

(2) Tropibasic skull

(3) Prefrontal and Post frontal
present

(4) Dicondylic skull

(5) Question not attempted

Which statement is INCORRECT

with reference to metamorphosis of

frogs ?

(1) Acquiring binocular field of
vision

(2) Locomotion changes from
paddle like motion to limb
locomotion ;

mﬂ) Loss of Horny teeth

48.

(4) Changing of photo-pigment
rhodopsin to porphyropsin
(5) Question not attempted

The point of Union of sinus
venosus externally with right
atrium in heart of mammals is
termed as ?

(1) annulus ovalis

(2) foramen of panizza

(3) sulcus terminalis

(4) coronary sinus

(5) Question not attempted

s1



49.

50,

51.

82.

53.

51

fm= 1 & #i7 @ fawey § Faa deede
ATt wrifeer & 2

(4) %3, maﬁrﬁmﬁ zﬁﬁumﬂa

(5) FAOHE 99
FH B T T 9EA 73 ) 9FT #
HAGHT W T e @ H HER

AR 7
(1) T (2) dered
(4) ufted

(3) wverey

(5) FFwa W

=1 =51 w2 forerm Fifsm

A R i IwEm F oS@ sw

el T "

B. 0 i #5% feeht w1 gEw

C. &1 iii. 789 9% %1 =N

D. s=my iv. RvEn % w2y fRafy
4 &9 T

B. C 'D

1v 1

(2) i iv

@) iv i i

(4) iv i i

(5) a‘;ﬁrliam

AT & sreifne & Fifvmel 6 a9

H U Y FH e 2 ?

(1) e

(2) iR

(3) el wifdrw Tq

(4) S Y

(5) AT T

fagem & 2w geet fi9 R e

R F AR W R 9w f

farem waema

(1)

(3)

(5) T w¥

(1)

A
111

ii
1

111
i

(2)
(4) fomred

|
|
|
|
|
o |
5
wlh
|
!
|

11

49,

50.

51.

52. Which

Which of the following options
contains only the mesodermal

structures ?
(1) Vartebral column, spinal cord,
iver, Fmal cnrd hair, heart
inal cord
Heart blood appendicular
skelet.nn vertebral column
Which germ layer gives rise to most
of digestive system epithelium and
(1) Ectoderm (2) Mesoderm
(3) Endoderm  (4) Epiderm

h liver
) o ottt 5
(5) Question not attempted
lining of respiratory system ?
(5) Question not attempted

M&tch the following correctly :
A. Latebra 1i. Secretes albumin
around ovum
B. Magnum ii. Shell membrane
- 18 secreted
C. Chalazae iii. Column of white
yolk
D. Isthmus iv. Keeps the ovum
in the centre
A B € D
(1) i iv i i
) i, 1 i 4
(3) iv i 3= | Ui
() .’ '

(5) Question not attempted

layer of cells in the
mammalian blastocyst gives rise to
the embryo ?

(1) Trophoblast

(2) Blastocoel

(3) Inner cell mass

(4) Zona pellucida

(5) Question not attempted

53. During cleavage when the first

three division planes do not stand
- at right angles to each other, the

cleavage is called :

(1) Spiral (2) Radial

(3) Biradial (4) Bilateral

(5) Question not attempted
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54. The presence of which ions is
essential for acrosomal reaction ?

(1) Chloride (2) Potassium
(3) Calcium (4) Nitrate
(5) Question not attempted

Read following statements :

A. Nucleus is essential for the

development to go beyond

cleavage.

The protein synthesized during

cleavage is due to the action of

m-RNA formed during cogenesis.

During cleavage maternal gene *

control the synthesis of protein.

Correct option is :

(1) Only A and B are correct.

| (2) Only C is correct.

l (3) All three statements are correct.
(4) Only B and C are correct.

(5) Question not attempted

b3.

B.

C.

Choose the correct statements with
regard to early mammalian
development :
a. First and Second cleavages are
meridional.
b. In second cleavage one
blastomere divide meridionally
and the other equatorially.
¢. Synchronous cell division.
d. Cleavages occur slowly.
(1) a and c are correct.
(2; ¢ and d are correct.
b and d are correct.
(4) a, b and ¢ are correct.
(5) Queatmn not attempted

56.

The ectoplasm or egg cortex of

mature ovum is transparent,

viscous layer and is not displaced

by centrifugation. This is due to:

(1) Presence of cortical granule

(2) Presence of t-RNA

(3) Presence of eytoskeletal
elements such as microtubules
and micro filaments

(4) Presence of golgi vesicles

(5) Question not attempted

51
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b8.

! 59.

61.

The type of implantation, in which
the blastocyst remains
unembedded in the uterine lumen
is :

(1) Central (2) Interstitial
(3) Eccentric (4) Apical

(6) Question not attempted

In mammals, when does the

embryo implantation into the

uterine wall takes place ?

(1) First cleavage has taken place.

(2) Inner cell mass of blastula has
differentiated.

(3) Fertilization has just taken
place.

(4) At four cell stage

(5) Question not attempted

Match the following Column-A
with Column-B :
Column-A Column-B
(Blastula) (Animal)
P. Coeloblastula i. Mollusc
Q. Stomoblastula ii. Reptile
R. Discoblastula  iii. Hydra
S. Stereoblastula iv. Syecon
Correct match is :
P Qg RaoB
(1) i v i i
@ 1 i # W
B i 1w o i
4) i 1 v i
(5) Question not attempted
Which pair is incorrectlﬁmatched ?
(1) Superficial — Insects
cleavage
(2) Rotational — Fishes
cleavage
(3) Discoi — Birds
cleava
(4) Radial cleavage — Amphibians
. (Frogs)
(5) Question not attempted
a
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63.

64.

i
|
|
|

65.

62. Which of the following occur
during gastrulation ?
(1) Increase in amount of glycogen.
(2) Increase in DNA dependent
RNA synthesis.
(8) Increase in amount of yolk.
(4) Decrease in consumption of

oxygen.
(5) Question not attempted

63. During embryonic development of

chick V! and VI*® aortic arches are
developed at ?
(1) At 36 hours of incubation
(2) At 68 hours of incubation
(3) At 72 hours of incubation
(4) At 96 hours of incubation
(5) Question not attempted

64. Select true statement —

(1) Sex limited genes are those
whose expression is not limited
to just one of the sex.

(2) Breast development occurs
only in female and genes for

breast developments occurs
only in female.

(3) Inheritable baldness is
dominant in males and
recessive in female.

(4) Sex-influenced genes  are
present only in sex

~ chromosomes.

(5) Question not attempted

65. Which hormone is primarily

responsible for stimulating uterine
contractions during labour and
: promoting milk ejection during

breastfeeding ?
(1) Estrogen (2) Progesterone
(3) Oxytocin (4) Prolactin

(5) Question not attempted

51
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66.

67.

68.

According to Vogt's amphibian fate
map, which of the following
statement is false ?

(1) The animal region of each
embryo give rise to epidermis
and neural plate.

(2) The marginal zone give rise to
mesoderm which is composed
of prospective notochord and
prospective  non-notochordal
mesoderm.

(3) The non-notochordal mesoderm
develops limbs, heart and
muscles.

(4) The prospective endoderm give
rise to kidney and gonads.

(5) Question not attempted

Epistasis work at —
(1) Intragenic level

(2) Intergenic level

(3) Intragenic and Intergenic level
(4) Randomly

(5) Question not attempted

Trisomics are those organisms,
which have an extra chromosome,
when this extra chromosome is an
isochrome (both arms genetically
similar) it will be called :

(1) Primary trisomics

(2) Secondary trisomics

(3) Tertiary trisomics

(4) Tetrasomic trisomics

(5) Question not attempted

Which of the following barrier is

reduced in endotheliochorial

placenta in between blood stream

of foetus and mother ?

(1) Uterine mucosae

(2) Chorionic epithelium

(3) Endothelial wall of maternal
(uterine) blood vessels

(4) Endothelium of foetal blood
vessels

(5) Question not attempted
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Which of the following trait in
human is a recessive autosomal
trait ?

(1) Hitchiker's thumb

(2) Widow's peak

(3) PTC testing

(4) Attached ear lobes

(5) Question not attempted

The karyotype of Patau's syndrome

is :

(1) 47, XX, +13 (2) 45, X
(3) 47, XY+21 (4) 45, Y
(5) Question not attempted

In embryo of Drosophila; the two
proteins — Bicoid and Hunchback
regulate formation of :

(1) anterior structures

(2) posterior embryo parts

(3) striped pattern ﬁ
(4) wings

(5) Question not attempted

How many Barr bodies are
expected in & buman cell
containing XXXY chromosomes ?
(1) One (2) Two

(3) Three (4) None

(5) Question not attempted

What is the outcome of

Robertsonian  translocation of
etic material in chromosomes ?

1) Formation of two acrocentric
chromosomes.

(2) Formation of one metacentric
chromosome and one chromosome
with two very short arms.

(3) Formation of one metacentric
and one acrocentric chromosome.

(4) Formation of two metacentric
chromosomes.

(5) Question not attempted

Which one of the following is not an
example of Aneuploidy in human ?
(1) Mongolism

(2) Klinefelter's syndrome

(3) Cri-du-chat syndrome

(4) Turner’s syndrome

(5) Question not attempted
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7.

78.

79.

80.

When GM2 ganglioside is not
broken down by hexosaminidase A
enzyme, it leads to which disease ?
(1) Waadenburg syndrome

(2) Hemophilia

(3) Tay Sach disease

(4) Familial hypercholesterolemia
(5) Question not attempted

In humans, Hemorghi]ia A results
from missing gene for clotting factor
VIII. This factor is located on :
Elg Short arm of Y-Chromosome
2) Long arm of Y-Chromosome
{3; Short arm of X-Chromosome
(4) Long arm of X-Chromosome
(5) Question not attempted

Which of the following statements

about genetic linkage is true ?

(1) Genes located on the same
chromosome assort 1
during meiosis. :

(2) Genes located on the same
chromosome always exhibit
complete 11111:19.Er

(3) Genes located apart on the
same chromosome are more 11
to exhibit genetic recombination.

(4) Genetic linkage occurs only in
organisms with a small
number of chromosomes.

(5) Question not attempted

What is the contribution of Carl
Correns in Genetics ?

(1) Explained Sex-linked
inheritance.

(2) Recognised cytoplasmic
inheritance in Mirabilis jalapa.

(3) Located the gene that causes
pattern baldness.

(4) Worked on chromosome
mutations.

(5) Question not attempted

Fruit flies with XXY sex
chromosomes and two sets of
autosomes with X : A ratio of 1.0
will develop into :

(1) fully fertile females

(2) sterile males

(3) meta males

Eé} meta female

5) Question not attempted
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81.

82,

83.

85.

Which male sex determining gene
In mammals is present on Y-
chromosome ?

(1) SRY Eﬂg DAX-1
535 WNT-4 4) S0X-9
5) Question not attempted

If a chromosome segment AB - CDEFG
undergoes rearrangement and
changes into ADC - BEFG; this is
called :

(1) paracentric inversion

(2) pericentric inversion

(3) reciprocal translocation

(4) non-reciprocal translocation

(5) Question not attempted

Which of the following statements

regarding multiple alleles are

correct ?

A. Multiple allele always occupy the
same locus in the chromosome.

B. Crossing over occurs within the
alleles of a same multiple allele
series.

C. Multiple alleles do not always
influence the same character.

D. The wild type allele is nearly
‘always dominant :

Codes :
(1) Aand B (2) Band C
(3) Band D (4) Aand D

(5) Question not attempted

Which method was devised by H.J.
Muller for detecting  lethal
mutation in sex chromosome of

drosophila ?

(1) AMES Test

(2) Balanced Lethal System
(3) CIB Technigue

(4) Attached X-method

(5) Question not attempted

In linkage map recombination
frequency between any two genes
will never exceed :

(1) 40 (2) 50

(3) 25 (4) 10

(6) Question not attempted
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87.
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89.
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Foper 8 & 19 A A HEE A

C. elegans ¥ T 5 & 6

D. melanogaster 3 & 9 W ?

(1) Sxl, xol-1, sde-1

(2) xol-1, sde-1, sde-2

(3) Sxl, sde-1, sde-2

(4) Sxl, xol-1, sde-2

(5) FHwRT W

faega w9 @ Felt gt el % =
FEE % Bie ae e i 3 FEER
AFEEY g ST & S R e
&7 3 wefifa 2 &, weem € :

(1) FEE
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(3) Tora (wre) 3 ges ¥

(4) TTEN 3R TS A

(5) Il T

o % wiftr-siriifers wora % fFa & %
F=nTa ST 1 |1 AR ?

(1) Fashfes &=

(2) Frifewa &=

(3) S &=

(4) FTRavest &=

(5) Fgeiia W

Fia fowgm sgrew

(1) T E (2) TGO
(3) THETEEA 1 (4) ST F
(5) I I

86.

87.

88.

89.

[
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From the following which master

control genes are found in
C. elegans but are not found in
D. melanogaster ?

(1) Sxl, xol-1, sde-1

(2) xol-1, sde-1, sde-2

(8) Sxl, sde-1, sde-2

(4) Sxl, xol-1, ede-2

(5) Question not attempted

The geographical range in which
small group of local populations of
widely distributed species, which

exhibit regular and gradual
stepwise phonotypic and genotypic
difference is called :

(1) Clines

(2) Demes

(3) Geographical race
(4) Ecological race
(5) Question not attempted

The most important anatomical and
morphological changes that occurred
in the evolution of horse are in :

(1) Limbs and teeth

(2) Limbs and hair

(3) Limbs and tail

(4) Neck and tail

(5) Question not attempted

Under which realm of Wallace's
Zoogeographical division, India is
considered ?

(1) Nearctic region

(2) Neotropical region

(3) Ethiopian region

(4) Oriental region

(5) Question not attempted

Down’s syndrome is an example of :
(1) Monoploidy (2) Polyploidy
(3) Monosomy  (4) Aneuploidy
(5) Question not attempted
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91. Process by which the hard parts
like bones and teeth get preserved
as fossils is known as :

(1) Compression

(2) Moulds

(3) Pseudofossil

(4) Petrifaction

(5) Question not attempted

92. Latimeria, the only living species
of Coelacanth is more closely
related to —

(1) lungfishes and tetrapods

(2) lungfishes and protochordates
(8) ray-finned fishes

(4) cartilaginous fishes

(6) Question not attempted

93. Which among the given does not
come under Wallace's line ?

(1) Celebs

(2) Borneo

(3) Philippines

(4) Polynesian and Sandwich islands
(5) Question not attempted

94. Which mixture was used by Miller
& Urey in support of Biochemical
origin of life ? )

(1) Methane, ammonia, nitrogen,
water vapour -

(2) Methane, ammonia, hydrogen,
water vapour

(3) Methane, ammonia, oxygen,
water vapour .

(4) Methane, ammonia, helium,
water vapour

(5) Question not attempted

According to Darwin which of the

_fulluwing animals is slowest
breeder ?

(1) Tortoise (2) Whale

(3) Elephant (4) Alligator

(5) Question not attempted
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97.

98.

99.

100.

Micro-evolutionary change does
not happen by which of the given
basic ways ?

(1) Genetic drift

(2) Natural selection

(3) Mutation

(4) Geographical isolation

(5) Question not attempted

The earliest and the most primitive
anthropoid ape during Oligocene is
called —

(1) Parapithecus

(2) Propliopithicus

(3) Proconsul

(4) Limnopithicus

(5) Question not attempted

Which among the given realms is
bounded by Himalayas in its South ?
(1) Nearctic (2) Neotropical
(3) Oriental (4) Palaearctic
(5) Question not attempted

Which of the following is a

requirement for the Hardy-
Weinberg equilibrium to be
maintained in a population ?

(1) Large population size

(2) Non-random mating

(3) Immigration and emigration
(4) Natural selection

(5) Question not attempted
Darwin’s theory of natural

selection was criticised by
(1) Hugo de Vries
(2) Sir Richard Owen
(3) Jullian Huxley
(4) Weismann
(5) Question not attempted
In which Era of geological time scale
the development of radiolarians and
Annelids took place ?
> (1) Proterozoic (2) Paleozoic
(3) Mesozoic (4) Coenozoic
(5) Question not attempted




102.

1{13.

104.

105.

e fawmEd aw f ged goeRt s
yafg SR 2 ?

(1) & afg=g

(2) i 2fafer

(3) ﬁﬁrﬁﬁw

(4) InfEresg ey

(5) it e

ﬁ@;g;nﬁmmﬂmﬁaﬂt{&aﬂﬁ

mﬂmwﬁﬂﬁmﬁamlﬁn
4 SN 91 vy e s o

AR 7
(1) Mfersinies  (2) sfhaises
(4) "

(3) drgrgs

(5) Frgeiia v

ﬁﬂﬁ:ﬂawﬁ%uﬁﬁwww
IR g :

a. A rTgE qEE A |

b. =&l ot 9t ° @A et usferi £
Tt agara & rd s # |

HE:

c. el vt oy # e
Foferd grar # |

d. ¥ wEEv fw sifEr % v
T woavfRE 2 |

(1) a,b,cHE &I (2) b,c, dudi |

3) badadt®| (4) asfcud ¥

(5) FwRE W=

ﬂnﬁﬁﬁ:&%mﬂmﬁ&ml
TAE?

(1}wa§ﬁmw%fﬂmﬂw#,
(zymaﬁﬁmmm@m:tﬁ%l
(3) adgh favmm aagtﬂi’erﬁl 7 |

ﬁg&mgﬁ%ﬁﬁmﬁ
(4) gmﬁﬁwﬁﬁ@

(5) et 5o

102.

103.

104.
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i

What is the oldest known species
in human evolutionary lineage ?

(1) Homo sapiens

(2) Homo habilis

(3) Australopithecus

(4) Ardipithecus ramidus

(5) Question not attempted

Earth’s geological time scale is divided
by geologists into two major parts
called Cryptozoic Eon and Phanerozoic
Eon. Which of the following era
belongs to Cryptozoic Eon ?

(1) Palaeozoic (2) Archaeozoic
(3) Mesozoic (4) Coenozoic

(5) Question not attempted

Choose the correct answer after

reading the given statement

regarding Galapagos islands :

a. These are volcanic islands,

b. Large number of freshwater
fish species are found in it.

¢. Avian fauna is dominated by
Geospiza.

d. It lies on the posterior borders
of South America,

‘(1) a, b, ¢ are correct.

(2) b, ¢, d are correct,

(3) b and d are correct.

(4) a and c are correct.

(5) Question not attempted

Which of the following results in

Autotetraploids ?

(1) By the union of a haploid
gamete with the diploid gamete.

(2) By a cross between a tetraploid
and a diploid parent,

(3) By the union of diploid gametes
produced in the absence of
meiosis or due to abnormal
meiosis.

(4) By fertilization of an egg with
two sperm.

(5) Question not attempted
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107.

108.

109.

&

Which of the following method is
not used by palaeontologists for
dating of fossils ?

(1) Radiometry

(2) Stratigraphy

(3) Biostratigraphy

(4) Allometry

(5) Question not attempted

Reduction of personal reproduction
in order to favour the reproduction
of other related animal is called as ?
(1% Co-operation (2) Mutualism

(3) Altruism (4) Autism

(5) Question not attempted

Learning which occurs in the
absence of any immediate reward
but can be used to guide a
behaviour later is called ?

(1) Habituation learning

(2) Latent learning

(33 Trial & error learnin

(4) Reasoning & insight learning
(5) Question not attempted

Below are written some statements
about methods of study animals in
field. Select the incorrect one :

(1) One zero sampling in which the
observer scores whether
“behaviour occurs on not’.

(2) In sequence sampling the focus
is on a chain of behaviours.

(3) In  focal imal i
observer selects a group o©
animals and remains with
them for some time and
whenever behaviour of interest
takes place it is noted.

In All occurrence sampling it is

desirable to focus on one or a

limited number of behaviour and

record all occurrence of them.

(5) Question not attempted

(4)

. Which of the following is a sub

region of Palaearctic zoogeographical
region ?

(1) Brazilian sub region
Manchurian sub region
Mexican sub region

(4) Canadian sub region

(5) Question not attempted
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111.

112,

113.

The largest territories among
herbivores is of :
(1) Zebras (2) Antelopes

(3) Hippocampus(4) Rhinoceros
(6) Question not attempted

The study of bird songs falls in
which of the branch of ethology ?
(1) Geophony

(2) Biophony

(3) Zoo-musicology

(4) Biosemiotics

(5) Question not attempted

In which of these eusociality is
NOT found ?

(1) Honey bees (2) Ants

(3) Wasps (4) House fly

(5) Question not attempted

114. Who suggested that the odour of a

115.

strange male mouse blocks the
pregnancy of a newly conceived
female mouse 7

(1) Helen Bruce

(2) Vander de Lee

(3) George Dodd

(4) W.K. Whitten

(5) Question not attempted

In the society of lions where the
core of the group is formed by
related females, is called :
(1) Polygyny

(2) Matriarchical system

(3) Hierarchical system

(4) Broadcast promisciuty

(5) Question not attempted

. Which of the following do not show

sexual cannibalism ?

(1) Preying mantis

(2) Black widow spider

(3) Fire fly (Photuris)

(4) Drosophila subobscura
(5) Question not attempted
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o
b
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Which of these is the ideal example
of Monogamous adult pairs, where
male-female bonding is permanent
and have equal dominance ?

(1) Gibbons and Ruffed Lemur

(2) Chimpanzees and Gorillas

(3) Deer and Antelopes

(4) Wolf and Tigers

(5) Question not attempted

The chief pheromone producing
gland in Queen honey bee is ?

(1) Nassanoff's gland

(2) Anal gland

. (3) Salivary gland

(4) Antennal gland
(5) Question not attempted

Type of learning in which animal
learns not to respond to a neutral
gtimulus is called as —

(1) Imprinting

(2) Associate Learning

(3) Habituation

(4) Operant Behaviour

(5) Question not attempted

A form of ‘Orientation’ when water
shrew follows the same path
everytime based on its memory :
(1) Klinotaxis (2) Mnemotaxis
(3) Tropotaxis (4) Menotaxis
(5) Question not attempted

A special neurosensory mechanism

in the brain that releases the

behaviour in response to specific

sign stimulus is :

(1) Action Specific Energy (ASE)

(2) Innate Releasing Mechanism
(IRM)

(8) Sign Stimulus

(4) Fixed Action Pattern (FAP)

(5) Question not attempted

. When stimuli is undirected and

unlearned it is called ?

(1) Kinesis (2) Taxes

(3) Orientation (4) Navigation
(5) Question not attempted
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123.

124.

125.

126.

127.

Long Term TORPOR is defined as ?

(1) State of inactivity in which some
warm blooded animals enter to
avoid adverse condition.

(2) State of inactivity in which some
cold blooded animals enter to
avoid extreme cold.

(3) State of inactivation in which
some cold blooded animals
enter to avoid extreme heat.

(4) State of activation in which all
warm blooded animals come
back from estivation.

(5) Question not attempted

At one point on elbow, four
different type of nerves endings are
bundled up - touch, pain, heat and
cold. A sharp blow there elicit a
very peculiar sensation. Centre for
all these sensations are present in
which part of brain ?

(1) Oceipital lobe (2) Parietal lobe
(3) Temporal lobe (4) Frontal lobe
(5) Question not attempted

Centre for reward and punishment
are situated in which part of
brain ?

(1) Posterior hypothalamus

(2) Anterior hypothalamus

(3) Cerebellum

Ezijl Mpyelencephalon

5) Question not attempted

Stereotaxis Atlas for cat brain was
first prepared by :

(1) Ferrier

(2) Jasper and Marson

(3) Hess

(4) Lashely

(5) Question not attempted

According to the classification of

territories given by Wilson (1975)

type A territory is :

(1) An area for resting and mating
for birds and fishes.

(2) An  area for feeding for
humming birds

(3) An area for resting and mating
for non-human primates.

(4) An area of mating for reptiles

(5) Question not attempted
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(1) Pavo Cristatus
(2) Pavo cristatus
(3) Pavocristatus
(4) Pavo cristatus
(5) A T
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In animal nomenclature suffix ‘idae’
is provided for family whereas for
sub-family following suffix is given :
(1) STA

(2) IDEA

(3) FORMES

(4) INAE

(5) Question not attempted

Gills that are found attached to the

coxa of appendage of a prawn are
called —

(1) Podobranchs (2) Pleurobranchs
(3) Arthrobranchs(4) Phyllobranchs
(5) Question not attempted

Given below are the Taxonomic

characters. Match the columns and
find correct answer :

Column-I Column-II
a. Morphological i. Body
character secretions
b. Physiological ii. Courtship
character
¢. Behavioural iii. Genitalia
character
d. Ecological iv. Food and
character Habitat
A B c d

(1) 1 1 iv i
(2) i 1 i iv
3 iv 1 1 il
(4) m v i i
(5) Question not attempted

What is the correct form of writing
the scientific name of peacock ?

(1) Pavo Cristatus

(2) Pavo cristatus

(3) Pavocristatus

(4) Pavo cristatus

(5) Question not attempted
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132. In

134. Match the

classification of organisms

‘taxon’ is explained as :

(1) A group of closely related species.

(2) A group of closely related families.

(3) A group of organisms with
same chromosome number,

(4) A group of rank of supraspecific
and infraspecific organisms,

(6) Question not attempted

133. International Code of Zoological

Nomenclature (ICZN) was adopted

by which of the following ?

(1) XVI International Congress of
Zoology, London

(2) XV International Congress of
Zoology, London

(3) XVI International Congress of
Zoology, Washington

(4) XVII International Congress of
Zoology, Washington

(6) Question not attempted

given columns and
choose the correct answer :
Column-I Column-II
a. a-taxonomy i. deals with
arrangement of
species into a
natural system
deals with
various
evolutionary
aspects
¢. y-taxonomy iii. characterisation
& naming of

b. p-taxonomy ii.

new species
a b e
(1) ii SR |
(2) i 1 i
3 i i i
(4) ii 1 i

(5) Question not attempted
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135.

136.

137.

138.

139.

140.
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FieH-A F1 FHiaH-B & foem Hifag :

HicH-B
. uehifEERIE i wEEA
: i, St

A iv. BeframE
H’ﬁﬁl’g’lﬁi:

1
2
3.
4

£ o
e (wgfi fafern) Ea]
(Fed) WiC I HS THEEq et
Tl 8 9T I @
(1) He=@ (2) WrErsitEn |
(3) AR H (4) wrerEh
(5)

FARA T
S % = wyEl % 99 HEw @)
zo & e P s =1 I9Em B 2,

I8 FHEATdl
(1) ¥ (2) HTEReA
(3) FASHH (4)
(5) o=
R F IS
goft A EA R ?
1) 39 (2) s
(3) =fa (4) T

5) L]

Fan eI e ?
() gE@H M EE T AR |
(ii) 771 = T svnE i Wi A R |
(iii) 3t faegem
(iv) 38 TE ¥ Ferdien wftifem 2 |
1) @3MGy) (2 @) G
(3) () 3R (Gi) (@) (i)
(5) ¥gafa

fodasRE e s R ?
1 a'ilﬁ!!i’ﬂli ﬁlilﬂ'ﬂgﬂ
Rl st Satigh oy

B e as

) ﬁaﬁmfg:mﬁ%mqaa&&a
(4) H Hiee & A wwh T R |

(5) Fgmia 5

n : m 1V
m ¥ 1
o - T

= B

iv

i

135. Match Column-A with Column-B :

Column-A Column-B
P. Amphidiscophora i. Sycon
Q. Heterocoela ii. Spongilla
R. Myxospongida  iii. Hyalonema
S. Haplosclerina iv. Halisarca

136.

137.

138.

139.

The correct match is :
P Q R S
(1) iv i i i
(2) 1 i ST ey
(8) i1 i T, © |
4 iv 1 i i
(5) Question not attempted

External surface with eight vertical
rows of comb plates of fused cilia for
locomotion are present in :

(1) Coelenterata (2) Protozoa

(8) Ctenophora (4) Mollusca

(5) Question not attempted

The diagram to depict the
relationships between different
groups of “taxa” is called —

(1) Karyotype (2) Arboretum
EE] Cladogram (4) Dendogram
5) Question not attempted

The lowest category in supraspecific
group of taxonomic hierarchy is —
(1) Family (2) Genus

(3) Species (4) Variety

(5) Question not attempted

What is true about protostomia ?
(i) Mouth arises from blastopore.
(i1) Coelom develops as enterocoel.
(iii) Radial cleavage.

(iv) In this group Rhynchocoela is

included.
(1) Ei} and (iv)  (2) (i) and (i)
i) and (iii) (4) only ()

3)
EE] Question not attempted

140. Which one of the following is a

29

wrong statement ?

(1) Ascidiacea and Leptocardii are
tes and lack a cranium.

(2) Ostracodermii and ostomata

are Euchordata and lack true
Jaws.
(3) Placodermii and Chondri-

chthyes are amniotic fishes.

(4) Branchiostoma is a chordata
but not vertebrate.

(56) Question not attempted




141.

142,

143.

144.

P wul =) ofde vy s &

Ty 3w faeey 9

A. FErEEie s v A R |

B. ESHd SRURH AR # |

C. wwigEia 4 a9 nferss fim
Gk 4

D. swEAEda § weufasiya w99t am
9T T # |

waifes e fawea 2

(1) A,B,C3RD (2) A BakC

(3) AR B (4) A3rC

(5) HFE T

TAHT G FH-TR FAfHeR e FT 3

o8 Tt O H g | ¥ W % T

wEd &

(1) #emwre fies  (2) TEEE

(3) wffnmm  (4) deEfas :

(6) v W

Frafafas @ & ar a9t = sgz=ft

oA R 7

(1) =l 99t safasha wfRnETafe

(2) e gt Svre yafeal vfRm B & |

(3) #iftdiEen dmw SRR Tm
FIEH TS A JA @A R |

(4) a1 o1& &t & gufem siodEen
He & ora S H s Ed |

(5) i W

afifehl & armfa s &

A, wEEEA

B. amEm

C. affao

Hﬂfﬁﬁﬂﬁmi

(1) A3RrB

(8) BamC

(5) ¥ e

(2) A3k C
(4) A, B3k

141.

1 42.

f 143.

Read the following statements and

choose  true option  about

Echinodermata :

A. Echinoderms have enterocoelic
coelom.

B. Echinoderms are deuterostomes.

C. In Echinoderms nervous system is
without brain.

D. In Echinoderms poorly developed
sense organs are present.

Most correct option is :

(1) A,B,Cand D(2) A, Band C

(3) Aand B (4) Aand C

(5) Question not attempted

In Euglena, when the fla
beats are repeated over and over
again, Euglena starts revolving in
circles, this is called —
1) Metachronal rhythm
2) Gyration

Swarming movement
4; Metabolic movement
5) Question not attempted

Which of the following is not an

Amphibian character of Seymouria ?

(1) Skull is flat with reduced
ossification.

(2) One pair of sacral ribs are present.

(3) Pelvic girdle attached to vertebral
column by sacral vertebrae,

(4) Neck is short so the pectoral
girdle lies close behind skull.

(5) Question not attempted

. Taxonomy includes :

A. Identification
B. Nomenclature
C. Classification
The most correct answer is :
(1) Aand B (2) Aand C
(3) Band C (4) A,Band C
(5) Question not attempted
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145, fr= 1 & fead 1-fe weft = w@ mn
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(1) e (2) feard
(3) BrEEwEEE  (4)

(5) Frgwid 5

146. Fr= 3 forg =0t & gt § Feie I
FUGR A WEM WeH €S A
o ufRm ER 2 2
(1) SEAAEHT (2) JELIR
(3) TFFIIET (4) Zrarenfsa
(5) I S

147, fr= & & ®9 @ @ s @@t 4
e & 2
(1) vt fghad! @ d &

(2) i wiTgl wftrger I

(3) W HTYTV] HEd A
(4) R TRt AT i e W/ &
(5) FwiE w9

148, TEra: e = & v § 5ad 3 99
e, SR AR T e # 7
(1) “r@ﬁm (2) feidist
(8) wietihrer (4)
(5) I W

149. wqm%ﬁﬁﬂmﬁmﬁm
's'.ﬁv. & wfera & gafea s 7d I3

a. v fedife s 1. e
b. awege fedifee fiet il He®

¢. Tremfiz iii. FTRIEE
d. teifea fist iv. TEhZTEE
a b c d

pfd i [
(3) iii v i i
@ 1 v 1 Hi
(5) HFwE 9

150, Frfafea § & #h @ Se gdiaHa 48 ?
(1) =\ (2)
(3) TEHRE (4) S|
(5) Frgaf W
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145. Which among the following
includes ray-finned fishes ?
(1) Actinopterygii (2) Selachii
(3) Holocephali (4) Sarcopterygii
(5) Question not attempted

146. Which of the following class of
animals possess chlorophyll bearing
chromatophores and the reserve
food is starch or paramylon ?

(1) Phytomastigophora
(2) Zoomastigophora
(3) Rhizopoda
Edr; Toxoplasmia
Question not attempted

147. Which of the following feature is
absent in Nauplius larva ?

(1) Larva enclosed in bivalve shell
(2) 3 pairs of jointed appendages
(3) Single median eye
(4) Body minute

indistinct regions.
() Question not attempted

148. The sense organs like eyes,
tentacles, Osphradia and Statocysts
are mostly found in members of —

(1) Gastropoda (2) Cephalopoda
(3) Polychaeta (4) Oligochaeta
(5) Question not attempted

149. Different feeding mechanisms
among Annelids have been
matched with their examples.
Choose the correct option :

with three

a. Direct deposit 1. G];,rl:era
feeders
b. Indirect ii. Chaetopterus

de
Fxftl.t;nfeeders iti. Ophellids

I d Raptorial iv. Amphitrite
i feeders
| e h @ d
| ) 2 i I W
2) ni ii i v
3)m iv 1 i
4) i iv i
5) Question not attempted

| 150. Which of the following animal
belongs to Eucoelomata 7
(1) Nereis (2) Taenia
(3) Ascaris (4) Loxosoma
I (5) Question not attempted
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